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4 Boxplot.R 3

1 table?_3<-c(65%,62,73,85,65,46,36,49,81,76,
2 60,44 ,43,72,21,33,83,46,64,49,
3 12,74,91,78,60,48,24,62,54,97,
4 69,31,89,96,96,97,86,88,85,601,
5 95,54,85,89,51,77,81,72,47,35)
6 summary(tablez2_3)

7 quantile(tablez_3)

B (sort(tablez_3))

9 fHivenum(tablez_3)

10 boxplot(table2_3)

= summary{table2_3)
Min. 1st Qu. Median Mean 3rd Qu. Max.

12.00 48.25 65.00 64.74 84.50 a7 .00
= guantile(table2_3)

03 25% 50% 5% 100%
12.00 48,25 65.00 84,50 97.00
= (sort{table2_3))

[1] 12 21 24 31 33 35 36 43 44 46 46 47 48 49 49 51 54 54 60 60 61 62 62 64 65 65 69 72 72 73 74 76 77
[34] 78 B1 B1 B3 85 B5 85 B6 B8 EO B9 91 95 96 96 97 97
= Fivenum{tablez_3)

[1] 12 48 &5 85 97
= boxplot{table2_3)
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